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(a) Write each of the following numbers in standard form
(1) 8370000000« q

(b) Find, in standard form, the value of
(47x107) = (83 x 107%),

(a) Write each of the following numbers in standard form.

(i) 23 million
2%5\5\6\629 " 2-3></O;

i) 000098 .

9-§x10
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(b) Find, in standard form, the value of (54X 103)x (3x 10°).
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(a) Write the number twenty million in standard form.

Calculate, giving your answers in standard form correct to 2 significant figures.

(b)

() @6x1077) x (72 x 10"

924 x 104
ol




16. (a) Write each of the following numbers in standard form.
@ (i) 3500 S

(i1) O-(3\‘J _
DR
[2]
(b)  Arrange the following in ascending order.
3x 104 3x107* 102x10° 10°
3
< lo 1
" 'L* ..................... 9 .......................................... b 7— 5’
Smallest EX(O ............ mlo ............ 3)(“5 [O ...... )‘ ‘[O Largest
[2]
9. (a) Write each of the following numbers in standard form.
@ i) 0004 =
| A-¥Fxl0
(i) 32000°
f R
[2]
(b) Find, in standard form, the value of
21x107) x (3 x 10°).
2l S =V zo’fx 102
63x10°
(2]

(iv) 34x103+12x102




9. (a) Write each of the following numbers in standard form.

@ Q) 5800

...... C e SR
oY

(2]

(¢) Find the value of (8 x10°)(2 x 10°). 3
5000~ 2000 = Eooo =z Exlo

................................................................................................................................................................................................. (]
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) (b)  Water flows into the pond at a rate of 50 litres per minute.

Complete the following statement by inserting a value written in standard form, correct to
3 significant figures. [4]
‘Water flows into the pond at a rate L m3 per second.’

i ...... (ll'“’-ﬂ ....... 100 caa
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14.

In the UK, some soft drinks are sold in cans.
75% of all these cans are made of aluminium.
In 2008, 5 billion aluminium cans were sold.

Given that 1 billion is 1000 million, calculate how many of the cans that were sold in 2008 were
not made of aluminium.
Give your answer in standard form correct to two significant figures.

A

O WJEC CBAC Ltd. (4370-06)

Examiner
only




